HI/NER - P FR-TILEFFRAERER

(BfL: 4 Sv.h)

. = 50cm
No| BIEH | MR e & T AELT B & = it
1 BENER 0.06 - - _
2 BRIRESEFR 0.07 - - -
3 5 AENE/NER 0.06 - 0.06 0.07
4 5A11B | & |BER 0.06 - 0.06 -
5 ﬂlzi’ HFEREH 0.07 - - -
6 &L R 0.07 - 0.07 -
7 o B NERR 0.07 - - -
8| 58128 BIRINERR 0.06 0.07 0.07 -
9] 5898 | MM |KAMNER 0.07 - 0.07 0.07
10| 58168 | AIFE [AIRERPER 0.05 - - 0.06
1 YRR ER 0.06 - - -
12 sE2m | BUE/NERR 0.08 - 0.07 0.08
13 KIFINERR 0.08 - - -
14 TN FERR 0.10 - - -
. = 50cm

No| BIFER |[#X%£ % P FELT R = I
1 BEINFER 0.06 - - _
2 RIREEFR 0.07 - - -
3 5 KENEDFRR 0.06 - 0.07 0.06
4| 5A248 | & |[BMER 0.06 - 0.06 -
5 ilizﬂ HFE R 0.06 - - -
6 & L 0.07 - 0.06 -
7 th BN 0.07 - - -
8| 5825H IR INERR 0.07 - 0.07 0.07
9| 5A98 | R |KEANEK 0.07 - 0.07 0.08
10| 58268 | A[m [AIRIERFFER 0.05 - - 0.05
1 PR 0.06 - - -
12 sA19E | ﬁiﬁ/]\?#{c 0.07 - 0.07 0.09
13 KIFINFERR 0.08 - - -
14 TN 0.10 - -
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